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ANTHROPOLOGY
Paper - 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  Patau syndrome is caused by
(1) Trisomy 13 (2) Trisomy 21
(3) Trisomy 18 (4) Trisomy 16

2. The two theories combined in the synthetic theory of evolution or Neo-Darwinism, are
(I) Lamarckism and Natural selection.
(2) Mutation and Blending inheritance.
(3) Natural selection and Mendelian inheritance.

(4) Migration and Natural selection

3.  Mendel’s work as rediscovered by
(1) Bateson and Punnet (2) Hardy and Weinberg
(3) Morgan and Sutton (4) Correns, Tschermark and De Vries

4.  Alkaptonuria is caused by the deficiency of
(1) Phenylalanine hydroxylase
(2) Tyrosinase
(3) Homogentisic acid

(4)  Glucose-6-phosphatase

5.  The movement of individuals in or out of a particular breeding population is known as
(1) Gene frequency (2) Genetic drift
(3) Variation (4) Migration

6.  The term ‘Dermatoglyphics’ was coined by
(1) R.Clarke (2) J. Walker
(3) J.F. Crow (4) H. Cummins

7.  The best way of determining paternity is the
(1) Counting of chromosome number (2) DNA finger printing
(3) Testing of blood groups (4) Pedigree analysis
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10.

11.

12.

13.

14.

15.

Which one of the following statements is false ?

(1)  Super-organic is a term associated with A.L. Kroeber

(2) The theory of structuralism was proposed by Claude Levi-strauss.

(3) The concept of cultural materialism was developed by Ralph Linton.
(4) The theory of multilinear evolution was propounded by Julian Steward

“Marriage is a exchange of women between two or more than two groups.” Who said it ?
(1)  Julian Steward (2) Evans - Pritchard
(3) Claude Levi-strauss (4) Emile Durkheim

World AIDS day is celebrated on which date ?
(1) 1™ October (2) 1" December
(3) 1™ November (4) 1% January

Which of the following is considered the most important and exclusive method of data
collection in Anthropology ?

(1) Participant observation (2) Census
(3)  Survey (4) Questionnaire

According to the Census 2011, the percentage of the Scheduled Castes and Scheduled
Tribes in proportion of the total population, respectively were

(1) 8.6and 16.6 (2) 10.8 and 7.6
(3) 16.6 and 10.6 (4) 16.2and 8.2

Which one of the following Articles of Indian Constitution States that seats shall be
reserved for the Scheduled Castes and the Scheduled Tribes in the Legislative Assembly
of every State ?

(1) Article — 332 (2) Article — 330
(3) Article — 275 (4) Article — 320(4)

The practice of attempting to harm people by supernatural means, but through emotions
and thought alone, not through the use of tangible objects.

(1) Witchcraft (2) Couvade
(3) Totem (4) Taboo

Which of the following cereals was not cultivated in the Fertile Crecent.
(I) Rye (2) Barley
(3) Maize (4) Wheat
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16.

17.

18.

19.

20.

At which of the following sites dogs were buried with their masters ?
(1) Tekkalkota (2) Mahadaha
(3) Sanganakallu (4) Burzahom

According to recent findings which of the following was not responsible for the decline of
Indus Valley Civilization ?

(1) Drying up of the bed of river Saraswati
(2) Aryan invasion

(3) Loss of trade

(4) Encroachment of desert

Which of the following best describes the living Tarsiers ? Use the codes given.
(a) They are found only in South America.

. . 2133
(b) Their dental formula is 2133

(c) They are called living fossils.
(d) They are arboreal and nocturnal

Codes :
() (a), (b) and (c) (2) (a), (¢) and (d)
(3) (a), (b)and (d) 4) (b), (c)and (d)

Which of the following statements are true of the Human Genome Project ? Use the codes
given.

(a) It was a mega project started in 1990 and completed in 2003.

(b) It helped in sequencing the entire human genome.

(c)  Sir Alec Jeffereys was the Director of the Project.

(d) It was totally funded by the U.K. government.

Codes :
(I) (a), (b) and (¢) (2) (b), (c) and (d)
(3) (a), (c) and (d) (4) (a)and (b)

Which of the following features define the chromosome ? Use the codes given.
(a) It has two arms.

(b) Short armis ‘P’.

(c) Thelong armis ‘I’

(d) To identify band, number, arm, region and band number are needed.
Codes :

(1) (a), (b) and (d) (2) (b), (¢) and (d)

(3) (), (c)and (d) 4) (a), (b), (c) and (d)
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17.

18.

19.

20.

=1 5 9 foheT TIell OR Sl ol 31k ST o [T WA foRaT ST &t 2
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et § @ o ZREET o1 90 it d 9o #ar g | e & 1T % %1 vEnT ST |
(a) ShoeT IOl SRERT | OTT ST & |
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(b) ST E -3

(c) % Siifed STengH el Sar € |

(d) I T R FeTR e ¥ |
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(1) (a), (b) &R (c) 2) (a), (c) 3T (d)
3) (a), (b) AR (d) @) (b), (c) R (d)

e SHM TSt & aR | Fafeiad § 9 SRt o 98§ | A 5T T e @ T # o
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(b) TEH R TG SIHM o 3THIT § FerFar Hel |

(c) T UAS SIS 3 Uioiae o (e9meh & |

(d) 9% foTT gAmeds fohren TR = T TE o<l Ferdar ueH i |

HT:

(1) (@), (b) 3R () () (b), (0) 3R (d)

3) (@, () 3@ @) (@ 3R (b)

frffiad o & S 9 fRITanT U GRmTE) B aRe et € 2 J R T g @ v
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(a) T ST A & |

(b) BRI ST A (P) Bl & |

(c) TS SIS ‘el () T & |

(d) S (@) B TETE % U e, ST, 89 3R ST e SEvas adl ¢ |

G YA

(1) (a), (b) 3R (d) 2) (b), (c) I (d)

(3) (a), (c) 3R (d) 4) (a), (b), (c) R (d)
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21.

22.

23.

24.

Which of the following best describe the attributes of Sivapithecus ? Use the codes given.
(a) Itis a genus of extinct apes.

(b)  Its first discovery came from Veitnam.

(c) Itis a Miocene ape.

(d) Itis thought to be an ancestral genus of Orangutan

Codes :
() (a), (b) and (¢) (2) (b), (c) and (d)
(3) (a),(c)and (d) 4) (a), (b) and (d)

Which of the following statements are true of the Dermatoglyphics ? Use the codes given.
(a) Itis not used for personal identification.

(b) Itis not influenced by environment after birth.

(c) Itis used as a clinical tool.

(d) The inheritance of Dermatoglyphic features is determined by a single gene.

Codes :

(1) (a) and (b) (2) (a), (b) and (c)

(3) (b)and (¢ (4) (a) and (d)

Which of the following are/were associated with ‘Culture and Personality’ School ? Use
codes given below.

(a) Ruth Benedict (b) Margaret Mead
(¢) A. Kardiner (d) M. Opler
Codes :

(1) (a), (b), (¢) and (d) are correct.

(2) (a), (b) and (c) are correct.

(3) (a), (b) and (d) are correct.

(4) (a) (c)and (d) are correct.

Which of the following is/are not monograph/s ? Use codes given below.
(a) We, the Tikopia

(b) The Crow Indians

(c) And Keep Your Powder Dry : An Anthropologist Looks at America.
(d) Others culture

Codes :
(1) (a) and (b) are correct. (2) (a) and (d) are correct.
(3) (c) and (d) are correct. (4) (b) and (d) are correct.
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21. Trefcfaa § @ o foafufaesa & o 1 S alieh @ 9o X & ? A9 KT 0 % %1 vE

F |
(a)
(b)
(©)
(d
£
(D
(3)

e fae] U 1 U oRT € |

T TEA! @St faFe T o W |

Tg T HEA o T (TGS ) |

ST TS T Ueh Yoot a9 JHT STl & |

(a), (b) 3R () (2) (b, (c) 3R (d)
(a), (c) 3R (d) 4) (a), (b) 3R (d)

22. 9 3@l {99 & 9R § FEfetEad § 9 B 9 HUE T@ E | 9 KT 0 e 1 IEh Hiu |

(a)
(b)
(©)
(d
E T
(D
(3)

ST ST TS o [T STANT el fohar ST € |
g S % 915 TATER0T ¥ WTTer el 8l € |

ST Ueh HST1eh WIYH o ®0 H SUINT fohaT STar & |
Teh Uehed ST 5T TR fo=i bt fariodred &6t aemiid Feifed g € |

(a) 3R (b) (2) (a), (b) 3R (c)
(b) 3R () (4) (a) 3 (d)

23, TFEATEd § 9 hiF-HH TG Ud AT’ oot d Gad &/2 ? $ T Teradl ¥ T&t ST I |

(a)
(©)
E T
(D
(2
(3)
4)

T SHlede  (b) HWRE His
T, File (d) TH. IR

(), (b), (c) 3T (d) WA € |
(a), (b) 3R (c) W T |
(a), (b) 3 (d) T T |
(a) (c) 3T (d) W& |

24. =14 W B T HATE T & 2 F B T HL |

(a)
(b)
(©)
(d
£
(D
(3)
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(a) 3 (b) TET € | (2) (a) 3R () TWEE |
(c) 3R (d) T E | (4) (b) 3R (d) T |
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25.  Which of the following are protective provisions for Scheduled Tribes as per the Indian

Constitution ? Use the codes given below.

(a) Article 15(4), 16(4) and 23 (b) Article 46 and 164
(c) Article 332 (d) Article 338

Codes :

(1)  Only (a), (b) and (c) (2) Only (b), (c) and (d)
(3)  Only (a), (c) and (d) (4) (), (b), (c) and (d)

26. Verrier Elwin was ?
(a)  An anthropologist with a degree from Cambridge
(b) A missionary
(c) A close associate of Mahatma Gandhi
(d) Advocated for the ‘National Park’ for Adivasi.
Codes :
(1)  Only (a), (b) and (d) are correct.
(2) (a), (b), (¢) and (d) are correct.
(3) Only (a), (c) and (d) are correct.
(4)  Only (d) is correct.

27. What among the following is/are true about the Toda Tribe ? Use the codes.

(a) Todais a pastoral tribe

(b) It was studied by W.H.R. Rivers
(c) They practice polyandry

(d) They are shifting cultivators

Codes :
(1) (a), (b) and (c) are correct. (2) (a), (b) and (d) are correct.
(3) (b) and (d) are correct. (4) (b), (c) and (d) are correct.

28. Find out the correct features of Neolithic culture.
(a) Sedentism
(b) Domestication of plants
(c) Domestication of fire

(d) Domestication of animals

Codes :
(1) (a), (b) and (c) are correct. (2) (b), (c) and (d) are correct.
(3) (a), (b) and (d) are correct. (4) (a), (c) and (d) are correct.

Paper-I111 10
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25. NRA™ SaEM % AR 1 T F DiF-5H 91 GRS TEHH 3Fgiad SHsiaar & o § 2 §e

T T L |

(a) 3% 15(4), 16(4) 3 23 (b) 3T 46 3 164

(c) =T 332 (d) =% 338

E T

(1) e (a), (b) 3R (c) T E | (2) FaA (b), (c) 3R (d) T E |
(3) A (a), (c) 3 (d) T E | 4) (a), (b), (c) IR (d) IR TEIE |

26. dAfER ufea =M 9 2
(a) HIFIST o AT Ueh G ol
(b) TH ¥H TERe (e
(c) T Tielt o Ueh FHehe et
(d) 3T o AT T s aA M % S
E T
(1) &% (a), (b) T (d) TEAE |
(2) (a), (b), (c) TAT(d) T E |
3) fa% (a), ()T (D) TE |
4) faFkd) e |

27. IS SIS % 9N H i d Wl © 2 FHe 1 WA HhL |
(a) <IST U TYMERS ST € |
(b) T=Y. TR, ad 7 gqehr s fomam o |
(c) T TgUMT - WIT T UTeT el & |
(d) JIFATA FIHT |

G YA
(1) (a), (b) A (c) T E | (2) (a), (b) T=T (d) T T |
(3) (b)TA(d) TEE | @) (b), (c) T (d) T |

28. {91 H 9 T TaumeT Thd el fowiear ¢
(a) HIslsdl
(b)  TTEYT BT ERERIOT
(c) 3T BT EXHRT
(d) TR T ERCHT
£
(1) (a), (b) 3T (c) T & | (2) (b), (c) R (d) TTE |
(3) (a), (b) X (d) WTE | 4) (a), (c) 3R (d) T E |
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29.

30.

31.

32.

Find the correct sites which yielded evidence of town planning. Use codes.

(a) Kalibangan (b) Dholavira

(¢) Nevasa (d) Pandu Rajar Dhibi
Codes :

(1) (a) and (b) are correct. (2) (c) and (d) are correct.
(3) (a) and (d) are correct. (4) (b) and (c) are correct.

Select correct consequences of food production. Use codes.

(a) Settled life (b) Population growth

(c) Classless society (d) No idea of private property
Codes :

(1) (a) and (b) are correct. (2) (c) and (d) are correct.

(3) (a) and (d) are correct. (4) (a) and (c) are correct.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : HLA (Human leukocyte antigen) haplotypes are found on white blood
cells and expressed at several closely linked loci on chromosome 6.

Research (R) : The HLA system is of fundamental importance in blood transfusion.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Several haemoglobin polymorphisms in humans, including sickle cell
haemoglobin are the best examples of heterozygote advantage and balanced
polymorphism.

Research (R) : The heterozygous advantage involves the fitness of Aa is greater than that
of AA or aa, and all the three genotypes segregate each generation due to random
mating.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true, and (R) is false.

(2) (A)is false, and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) true and (R) is the correct explanation of (A).
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29.

30.

31.

32.

=1 & 9§ foF-form el o TR o ST et § | e Rl et | Wel 3TR Sl 99T HY |

(a) SIAET (b) HiEITERT

(c) e (d) g TR Tt

£

(1) (a) 3R (b) THE | (2) (c) IR () TWE |
(3) (a) 3R () WE | 4) (b) 3T (c) WE |
W SE T TSl TN BT € 2 e Bl GeTadl ¥ el TR bl =7 Y |
(a) AR S (b) ST Iy

(c) oo TSt (d) =it Gufa =1 g faar =
£

(1) (a) 3R (b) WEIE | (2) (c) IR () TWEE |
(3) (a) 3R () WE | (4) (a) 3R (c) TIE |

T <1 P U MU | U Bl SAH (A) 3R TR Bl T (R) FeT STl € |

AWHUT (A) : TITAT, (@A RIS TfesH) Fleesd Yo TR HITHRIS W U S € 377
TURE 6 W ke ®9 W ST 3 Al 7 tffezrem 8 € |

T (R) : T, TA. T, WAl TSR (7S W) | 97 9 ¥ Tewoqol ¢ |

ST &1 Al o T o T § F i-ET U el & 2

E T

(1) (A)TEE WR)TAAE | (2) (A) T E, W(R) T E |

(3) (A) TAT T 3R (R) T TAq € | (4) (A)TET AR (R) T HEF |

T 31 P U MU | U Bl AR (A) 3R TR Bl T (R) FeT STl € |
A (A) : 99E § I (RFehel Tel) SHTclien S|l 3 Sarele ageudnd fous it
AN (RIS TSATST) 3R Ffeld Sg&udl o S0 ST & |

T% (R) : fo09 IO A 7 AA 37 aa T o1 H Aa Y Theq 31ueh et & 3T Tt o a=
T (STHICTEY) A HTH % HRUT Ueish gl ol Yo i & |

SR &1 Al o T H T § Qi Uk W ?

£

(1) (A)"EE, W(R) TAT & |

(2) (A) T E, W(R) T E |

(3)  (A) 3T (R) THT W&t &, W (R), (A) ' T&l =0 &l ¢ |

(4)  (A) T (R) SHI Wl €, 3T (R), (A) ! Tl A& ¢ |
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33.

34.

35S.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Heritability explains the relative contributions of genes and environment
to the production of phenotype.

Research (R) : A heritability of zero would mean that all the observed variation is due to
environmental factors, while the score of 1 would mean that it is all due to genetic
factors.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true, and (R) is false.

(2) (A)is false, and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) true and (R) is the correct explanation of (A).

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Blood Pressure is measured during ventricular constriction and relaxation.

Research (R) : Blood Pressure is influenced by diet, life style, stress, physical activity
and heredity.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Adaptation is a process whereby the organism attains a beneficial
adjustment to the environment.

Research (R) : Adjustments can be either short-term or lifelong, and may involve
physiological, structural, behavioural, or cultural changes aimed at improving the
organisms functional performance.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.
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33.

34.

35S.

I 31 e U MU | U Bl AR (A) 3R TR Bl 7% (R) FeT STl € |

AT (A) : T BIHIEET % IcqeT | ST 3T T=ieror & Gl TS ol ST il
tl

qF (R) : I P SR T 3T BT o Toet qfaifeqd To=Ta Uiiaor Heelt shRehl & HRUT &,
STefeh | WhIX T 3T BT b I |l 3Ta¥Teh PRI b HRUT ¢ |

SIRI 1 BT % T | = T @ B U e § 2

£

(1) (A)"E T, W(R) TAT & |

(2) (A) eI €, 3T (R) TEl & |

(3) (A) 3R (R) I T €, W (R), (A) T Tel =AW T&1 € |

(4) (A) T (R) ST H&l & 3T (R), (A) & Tl AT |

T 31 e U MU | U Bl SAH (A) 3R TR Bl T (R) FeT STl € |
ATHHHT (A) : T T Hora Feprae 2R et & SR A1or S € |

AF (R) : 3ER, STa-RI, T16 (), IRIND haTeheid 31T STaTehar & Jeamd TTied &l
tl

IIRIFT 3 AT 6 H5H | 9 F F e 0 el § 2

C TAN
(1) (AT, 3R (R) T 7 | (2) (AT E, A (R) T T |
(3)  (A) T & 3R (R) Hf T & | (4) (A)TETATR) MHIE |

I 31 e U MU | U Bl SAH (A) 3R TR Bl T (R) FeT STl € |

AHAT (A) : SFTHH U UishaT &, FTa Sa qaTeror & ufd U emRes FHIESH ATed
T

A% (R) : TURSH it a7 STSTa & Fohd & 3T $TH PATHS FURT (FRMT IWhHHH)
% 39T W YN, TEHIH, SHEeRIT a1 G (e e et & Tehd & |

IIRIFT 3 AT 6 H5H | 9 F F e 0 el § 2

G YA
1) (A)TE WR) TATE | (2) (A)TEAE WR)TWIE |
(3)  (A) Ted & 3R (R) f T & | (4) (A)TETATR) MHTE |
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36.

37.

38.

39.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as

Reason (R).

Assertion (A) : E.A. Hooton identified “composite races,’
races” and “subraces.”

Research (R) : The composite races were formed by admixture of primary races.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true, and (R) is false.

(2) (A)is false, and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) true and (R) is the correct explanation of (A).

b

in addition to the “primary

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : V.G. Childe said, “Neolithic period is the period of revolution.”

Research (R) : During this period, for the first time, man was able to domesticate plants.
In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A)is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as

Reason (R).

Assertion (A) : Due to constitutional provisions granted to the Scheduled Tribes, Literacy
rate has significantly improved among them.

Research (R) : This is also one of the reasons for the growth of unemployment among the
tribesmen.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as

Reason (R).

Assertion (A) : Some anthropologists consider “Chrysanthemum and the Sword” as a
condemned book in the discipline.

Research (R) : This was a study assigned by the American Defence Department to Ruth
Benedict to study the Japanese National Character.

In the context of the above two statements which one of the following is correct ?

Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.
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36.

37.

38.

39.

I 31 P U MU | U Bl AR (A) 3R TR Bl 7% (R) FeT STl € |

AN (A) : T U g F “WAMHE USaAr X “IUISIGEAr % SNdNe “Tas wemiaar
(OIS THST) Y U o i |

b (R) : Trafes sTiaal o taraeor (efheae=i) gry <[ usiiaar” = f9mor gar € |

IR &1 AT o Hed | T U § I U el © 2

T4

(1) (A)"E T, W(R) TAT & |

(2) (AT g, WR) T & |

(3)  (A) 3T (R) THT W& &, W (R), (A) ! T&l =0 &l ¢ |
(4)  (A) 3T (R) AT W&l & 3R (R), (A) i T& AN |

o 3T T 31 o H @ U A (A) 991 §HU a6 (R) ¥ |
ATHUT (A) : a1 ST, TMEeE = HeT, FTEUTIT I SHifd BT 9T |’
T (R) : A 7 Tgel SR 38T hiel | 9l o1 TeqTer 2T fopa |

UG TS H 7 § T a1 U T 2

C TAN

(1) (A)TWEE WR)TWITRIE | (2) (A)TEAE WR)TWIE |
(3) (A) 3R (R) T TTora € | (4) (A) I (R) I I |

T 31 e KU MU | U Rl AR (A) 3R TR Bl T (R) FeT STl € |

AMUHYT (A) : SIS SHSIITAT % TT ST 71T Goremes Waem =i bl aote § 398 TeRar &8 §
HETIquT & § GUR ot & |

A% (R) : 3G S & ST o aie SRISTIRI Sg- & U g o o5 ¢ |

ST JT BT o TIH | 7 § F AT U G ¢ 2

G YA
1) (A)TE RWR)TATE | (2) (A)TEAE WR)TWIE |
(3)  (A) T & 3R (R) Hf TeAd & | (4) (A)TETATR) MHTE |

I 31 P U MU | U Rl AR (A) 3R TR Bl 7% (R) FeT STl € |

ANHAT (A) : F2 TG O I € [ “ShIedemy Ug § 98’ A fomie & & § U e+
TEIH ¢ |

T (R) : TE SUM % UL AR o 2aaT & oIl TF sHfede T SNeh! Tiaqed favmT gry g
T S 9T |

SR SH1 BT o Ggd T e § AT U 92l € 2

C TAN
(1) (A)TEETA(R) T TIE | (2) (A)TEAE AR (R)TIT |
(3)  (A) TeAd & AR (R) f T & | (4) (A)TETATR) MHTE |
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40.

41.

42.

43.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Pseudo-tribes are those non-tribal groups who on the basis of certain
yardsticks claim for inclusion of their group in the list of Scheduled Tribes.

Research (R) : This is done by such groups to receive constitutional privileges and
safeguards provided by the Indian Constitution to the STs.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Malinowski is considered to have conducted the longest period of
fieldwork in anthropology (from 1913 to 1918 in Trobriand Islands).

Research (R) : It was his ‘self exile’, not a voluntary stay owing to First World War.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : “Man and man alone can acquire culture.”

Research (R) : Man is equipped with certain crucial Physical/Biolgoical characteristics.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true and (R) is not true. (2) (A) is false and (R) is true.

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Mesolithic people were species specific hunter-gatherers.
Research (R) : Mesolithic was a stage of incipient cultivation.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is false. (2) (A)is false and (R) is true.

(3) (A)is true and (R) is also true. (4) (A) is false and (R) is also false.
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40. 3 5T ST AT H F UH Bl IR (A) TAT TR 9k (R) FeT ST € |

41.

42.

43.

AMUHY (A) : B SHSAAAT o IR ST G &, ST 3 90 & 3MER W 3104 G9g
STTgfad ST b gt | Qe e T 3aT o & |

a® (R) : T8 Gl R 9 IRE B I16T AR e 51T 3Tgrad SHeiaar sl Ue R
AT TR Ut S o foTl Foham STrem & |

U SHT el o T | T | W T U el § 2

£

(1) (A) W& T 3R (R) & TaI & | (2) (A) T E R (R) W T |
(3) (A) TTed & 3R (R) W Terd & | (4) (A TEIE R (R) T E |

o 3T <1 o B F U h SRIHE (A) TAT TR ek (R) FeT ST € |

AfHHAT (A) : U T ST € b Afemieses! 3 ae o 9 999 o 99 d & S fear
@fedg 5ot 7 1913 § 1918 @) |

aF (R) : ¢ Wiess Harg Tt o, e 7o fova 9 o RO ohal T T Fshra o |

U SHT el o T | T | W T U el § 2

£

(1) (A) & T 3R (R) & Tal & | (2) (A) T E R (R) W T |

(3) (A) TATE 3R (R) AT € | (4) (A)WET AR (R) T & |

o 3T <1 o B F U H SIRIHE (A) TAT TR ek (R) FeT ST € |
ANTHAT (A) : TS 3R TGF e & TEpia ST e Fehell & 17

A% (R) : A0 F3 o9 11d Hewaqul SRR oo Sifereh foreioansti | Jo € |
ST JFT AT b TR H 9 H ¥ BT U Tl § 2

C TAN
(1) (A)TEETAT(R) T TIE | (2) (A)TEAE R (R)TIT |
(3)  (A) T & 3R (R) Hf TeAd & | (4) (A)TETATR) MHTE |

I 31 P U MU | U Rl SAH (A) 3R TR I 7% (R) FeT STl € |
ATUEHUT (A) : HH-TTI0T I o AT THRT- AR RHR-TIESR! & |
A% (R) : TEI-UTHI0T SHicT STRIEAH P (SAMAMIUE THichoa) T Teh =0T T |
ST 3 FUAT o I H = § T DI U Tl ¢ 2

G YA
(1) (A)TEE WR) TATE | (2) (A) T E, W(R) T E |
(3) (A)TWEE AR (R) W TWE | (4) (A) Ted & AR (R) W i ¢ |
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44.

45.

46.

47.

48.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Hydraulic theory explains growth of early civilization.

Research (R) : Irrigation made land productive.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is false. (2) (A)is true and (R) is also true.
(3) (A)is false and (R) is true. (4) (A) is false and (R) is also false.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Carrying capacity of land increased with food production.
Research (R) : Food producers need less amount of land.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is false and (R) is true. (2) (A)istrue and (R) is false

(3) (A)is false and (R) is also false. (4) (A)is true and (R) is also true.

Given below are two statements, one is labeled as Assertion (A) and the other is labeled as
Reason (R).

Assertion (A) : Biface tool makers hunted big games.

Research (R) : Biface tool makers were scavengers.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A) is true, but (R) is false. (2) (A) is false, but (R) is true.

(3) (A)is true and (R) is also true. (4) (A)is false and (R) is also false.

Select the correct sequence of the following in order of their increasing complexity.
(1) Chromosome — Gene — Genepool — Genome — Genotype

(2) Gene — Chromosome — Genotype — Gene — Genepool

(3) Gene — Genotype — Chromosome — Genome — Genepool

(4)  Genotype — Chromosome — Gene — Genepool — Genome

Identify the correct sequence of following fossils in the ascending order of their discovery.
(1) Narmada Man — Cro-Magnon — Rhodesian Man — La—Chapelle-aux-Saints.
(2) La—Chapelle-aux-Saints — Rhodesian Man — Cro-Magnon — Narmada Man.
(3) Cro-Magnon — La—Chapelle-aux-Saints — Rhodesian Man — Narmada Man.
(4) Rhodesian Man — Cro-Magnon — Narmada Man — La—Chapelle-aux-Saints.
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44, T FUF KU MTE | U i AMEHT (A) 3R gl 7% (R) FeT STl € |
AT (A) : BTESioTeh [Hgid TR Tgar & [ ol =are a1 ¢ |
% (R) : e & 9y Scageier s |
IR &1 AT o Hed | T U § I U el © 2

G YA
(1) (A)TEE WQR)TETE | (2) (A)TWEET A (R) MW T |
3) (AT, WR) T | (4) (A)TdE AR (R) M Ted € |

45. IO FUF KU MTE | U i AMHT (A) 3R g I 7% (R) FeT STl € |
AIHHYT (A) : TRI S & AT i GROT I D &7 H g g% |
% (R) : @RI ScAEeh I 7 YT 6 SE9ahdl aidl & |
SURISR JT AT o T W 7 | § i1 Uh Tl & 2

G YA
(1) (AT WR) T | (2) (A)TEE WR) TAE |
(3) (A) THd & AR (R) M oA & | 4) (A)TETATR) MHTE |

46. T FUF KU MTE | U I AMHT (A) 3R 9 I 7% (R) FeT STl € |
BT (A) : 5@ IUHOT FETAT T STHERT 7RI’ et & |
A% (R) : 5@t SUshoT FHTar g uot wait o |
ST qT T o T H 7 T F AT U e € 2

G YA
(1) (A)TEE WQR) TATE | (2) (A)TEAE, W(R) TWIE |
(3) (A)TATAT(R) T | (4) (A) Ted & AR (R) W i ¢ |

47. TTATAREd 59 ST 0! Tgcl SHeotal o TR Tl 37 hl FHT |
(1) TR (ShIE™E) — ST — ST g6l — STHM — STH T (STH1eR)
(2) S — O — S ST — ST — S e
(3) I — ST TET — O — S — S FeT
(4) <9 UET — TORG — S — ST gef — S

48. TG STaTedl & 3! @IST o 3R 5T & SR el 569 Sl Jga Hie |
(1) ST AHE — Fl-HTHH — VSRR T — oA1-91%-377-Hd
(2) EA-ITA--HH — SRTATE TS — FHI-TTA — THT T
(3) - — A1-37-311-HeH — TSRS 7 — THIT A
(4) SR A — I-ATH — FHIT W — AT-IA- 37 HeE
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49.

50.

S1.

52.

53.

Arrange the following Anthropological Journals in ascending order from the earliest to the
recent. Use the codes given.

(a) Yearbook of Physical Anthropology

(b) Human Biology

(c) American Journal of Physical Anthropology
(d) Annals of Human Biology

Codes :
(D) (a), (b), (¢), (d) (2) (c), (b), (a), (d)
3) (@), (c), (b), (a) 4) (b), (d), (), ()

Arrange the following a concepts of demography and population genetics in the ascending
order. Use the codes given.

(a) Selection Intensity Index (b) Hardy-Weinberg Equilibrium
(¢)  Genetic Drift (d) Inbreeding coefficient

Codes :

(1) (b), (d), (¢), (a) (2) (@), (), (d), (b)

(3)  (d), (b), (¢), (a) @) (©), (), (a), (b)

Identify the correct sequence of the steps involved in gene cloning. Use the codes given.
(a) Isolation of DNA fragments.

(b) Joining DNA fragments to vector.

(c) Identification of cells carrying recombinant molecule.

(d) Transfer of recombinant vector to host cell.

Codes :

(1) (D, (), (), (a) (2) (c), (b), (d), (a)

(3) (@), (b), (d), (©) 4 (b), (d), (a), (c)

Arrange the following tribal revolts in chronological order.

(a) The Jwang revolt in Orissa (b) Chhotnagpur Tribal revolt
(c) Nagarevolt (d) Bastar tribal uprising
Codes :

(1) (b), (@), (c), (d) 2) (b), (), (d), (c)

(3) (@), (b), (c), (d) 4 (d), (a), (0), (b)

Choose the correct sequence of a social institution as enunciated by B. Malinowski.

(1) Activities — Norm and Personnel — Material apparatus — Charter — Function
(2) Charter — Norm and Personnel — Material apparatus — Activities — Function
(3) Charter — Function — Norm and Personnel — Material apparatus — Activities
(4) Function — Charter — Activities — Norm and Personnel — Material apparatus
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49.

50.

S1.

52.

53.

et Jiasa S ufeRsti & 37 gaad ¥ TdHan 9 § Faied Hise | |- e T
e HT AN HIT |

(a) SRH 3 TRSTRE TareArsi

(b)  TET TS

(c) 3MNEHT SRAT AT thisTeher TSI

(d) TSTT 3 g ST

E T
(D (a), (D), (c), (d) (2) (0, (b), (a), (d)
(3)  (d), (¢), (b), (a) 4) (b), (d), (), (¢)

ST 3R STHEET AT i H=leiEd STEaRmeT ol RE 9 § Fared Sy |
e ST T e HT TN HIWT |

(a) =T e GEhich (b) el AT T
(c) AR forerer (d) 3T TS OTR
T

(1) (b), (d), (), (a) (2) (a),(c), (d), (b)
(3) (), (D), (), (a) @ (o), (d), (a), (b)

ST FeAIfFT | et &1 aTet haAl o Tel hH S TedH Hitu | 9 ST 7T e 1 UG HifT |
(a) TLUAT. el HT YR

(b) TITAT. Wel HI A (ANTETEH) o Hq1Y THAHT

(c) AT 3TU] ST HRUT T HIRTHRIST FHf Tg=

(d) AT 370] ST BT HISTHT H TIHIAOT

E T

(1) (@), (), (b), (a) (2) (), (b), (d), (a)

(3) (), (b), (@), (c) 4) (b), (d), (a), (c)
SASTITAET & FATeREd Rl bl 37 HIehd o SR TSIE | e S TFhT HY |
(a) TSI I T3 fosiE (b) BITAMR anfardr foge

(c) T famE (d) S e fose

E T

(1) (b, (a), (), (d) (2) (b), (a), (d), (c)

(3) (@), (), (0), (d) @) (@), (a), (c), (b)

1, AfeTerent gRT QST T & fou ufawentud @t s i @1 g 2
(1) e — fem iR =afe — ifdes am — = — %3
(2) =T — I 2R =Afed — wifds amit — FamraT — %3
(3) T — FE — a7 IR Al — «Hifds A — fharaa
(4) FF — =X — Trarherd — a0 3R =t — difqs qmm
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54.

5S.

56.

57.

58.

Which of the following sequences of Ashrama Dharmas in descending order is correct ?
(1) Brahamcharya — Grihastha — Vanaprastha — Sanyasa
(2) Sanyasa — Vanaprastha — Grihastha — Brahamcharya
(3) Sanyasa — Vanaprastha — Brahamcharya — Grihastha
(4) Brahamcharya — Grihastha — Sanyasa — Vanaprastha

Arrange the following books in order in which they appeared. Use the codes.

(a) Coral Gardens and Their Magic : A study of the methods of Tilling the soil and of
Agricultural Rites in Trobriand Islands by B. Malinowski.

(b) The Elementary Forms of Religious Life by Emile Durkheim.

(c) Folk Culture of Yukatan by Robert Redfield.

(d) Man and Culture by Clark Wissler

Codes :
(D) (b), (), (), () (2) (c), (d), (b), ()
3)  (b), (), (©), (a) 4 (d), (), (), (c)

Identify the correct sequence of Evans Pritchard’s works in descending chronology. Use
codes.

(a) Witchcraft Oracles and Magic among the Azande.

(b)  The Sanusi of Cyrenaica

(c) Theories of Primitive Religion

(d) The Nuer

Codes :
(D) (a), (d), (b), (¢) (2) (a), (d), (0), (b)
3)  (c), (b), (a), (d) 4) (c), (b), (d), (a)

Arrange the series of stages in ascending order that are to be followed for management of
Archaeological resources.

(a) Identification and understanding. (b) Arrest natural and artificial decay.

(c) Interpretation and display. (d) Recording of the structure.
Codes :

(1) (@, (b), (c), (d) (2) (d), (b), (a), (c)

(3)  (b), (c), (d), (a) 4 (0, (a), (b), (d)

Arrange the following sites in chronological sequence of cultures. Use codes.
(a) Lothal (b) Rajodi

(c) Noh (d) Amri

Codes :

(1) (d), (c), (b), (a) (2) (d), (a), (b), (c)

(3)  (d), (b), (¢), (a) 4 (d), (0, (a), (b)
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54. 3HH 99 % Ged § e § 9 o 91 IS SeRiEl ShH U el E ?

(1) FEET — o — THI — T
(2) T — TN — Te — sered
(3) TR — TR — FETEd — e
(4) TEET - o — TG — T
55, T QXAhT Sl 3Tk YR o 9 o STHR Wel hH | TSI Y | FH T =AM L |
(a) HRA MeH UE TR HRH ; 3T W 3 T HISH 31 (el § WA U 3 Tiishoaial
LT T US 3TEAS — & HieTHaehl
(b) T ufemicdl B 3 RelifSTarg o — Uit geamd
(c) ThRIoH FHoR Ih FHEA — T ISHTS
(d) ¥ TS ol — FeAleh forler
£
(1) (b), (d), (@), (c) (2) (0, (d), (b), (a)
(3) (b, (d), (©), (@) @ (@), (b), (a), (c)
56. zama TUamE % T Al Sl 3% THERH a9 % el s | Fared Y | H H FAN AL |
(a) T Toashde 3TRehet WU AT 3THT 1§ Uets
(b) & TSI HTH BHIEATH
(c) & ais site Wfea Ao
(4 f=w
E T
(1) (@), (d), (), (©) (2) (a),(d), (c), (b)
(3) (), (b), (a), (d) @ (o), (b), (d), (a)
57. TR GETEAT % W % e TROT 3% STRET =ROT § Saiedd Y | % H Geram 9 Fel
I N =TI HY |
(a) TSI 3T THSHT (b) W AT HIETH &ROT i T
(c) AT T UG (d) o & ATerE
£
(1) (a), (b), (c), (d) (2) (@), (b), (a), (c)
(3) (b), (0), (), (a) @ (o), (a), (b), (d)
58. 9T Tl BT SRl G o TR o STER TS | e i Teradl ¥ Tal ST I |
(a) @A (b) e
(c) T (d) e
£
(1) (d), (0), (b), (a) (2) (@), (@), (b), (c)
(3) (), (), (©), (@) @ (@), (c), (a), (b)
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59. Match the following List-I with List-II. Use the codes given below :

(a) A measure of sizes overtime for example, a person’s
height at different ages.

(b) A measure of the rates of change in growth over time.

List -1

(c) Rapid growth during adolescence.

(d) A physical difference among related people from distinct
generations that allows one to make inferences about
environmental effects on growth and development.

Codes :
(a)
(H G
(2 @v)
(€)IN©))
4 (i)

60. Match the following List-I with List-II. Use the codes given below :

(a) Darwinian view of slow

change.

(b) Evolution of a species or trait into another over a period (ii)

of time.

(c) Evolution through the branching of a species or a lineage.

(d) Model of evolution characterized by rapid bursts of (iv)
change followed by long periods of stasis

Codes :
(a)
(C) RN )
(2) (i)
(3 (@v)
(CORNCY)

Paper-I111

(b)
(iii)
(D
(ii)
(iv)

(b)
(i1)
(D
(iii)
(iii)

(©)
(1)
(iii)
(iv)
(i)

(d
(iv)
(ii)
(iii)
(D

List -1

(©
(iv)
(i)
(i)

(d
(iii)
(iv)
(D
(iv)

26

incremental evolutionary (1)

List - II

Secular trend

Growth Spurt
Distance Curve

Velocity Curve

List - II

Anagenesis

Cladogenesis

Gradualism

Punctuated
equilibrium
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59, frfafEd g1 9 < 7T H&T Bt gE-11 S 7R % 9 e Hig | 7 T T % BT uEnT
T :

(a)

(b)
(©
(d)

(1)
2
3)
4

T - 1 = — 11
g i & T ERI B A, I[N B S o (1) Faewiters wata
fore-frt 5o o Srg
U e % 919 Iy | uRad= ¢ T 1 (i) e d o BTA
TeRTRTareT % SN O i (iii) TH o
fafere difedt 9 Geifea safar & oie IIRIRG IR, 5T fhdt  (iv) o o
TR T g 3R T I YATER0T & WTell & SR | 3FAA
ST T E |

(a) (b) (© (d)
() (D) @ (iv)
(iv) @ (i) (D)
6 i)  Gv) (i)
(i) Gv) (i) @

60. Tr=fctfiga g1 & < 78 /i BT G-I W81 & 9 Afed sifse | | KT e e w6
I

(a)
(b)

©
(d

ey
2
3)
4

J-07-16

=t - 1 = - 10
it g Farell foreprai uRe o I | S1a &l 0a (i) T (TASE)
U o o T fopdt WIetsT 2 o7 61 31 | Ty (i) vEE foreprg
ENEERIEE)
Topdt TriisT =7 <97 ot TTRETSt & Aty ¥ forehr (ili) SHHRAER (USTalcTsH)
T forg Oiew, SEH odd o id ¥ Uledd g © (iv) dfud @A (UgeieE
3 S 915 el St qeh Meiar ot € | feratetsrm)

(a) (b) (© (d)
@ ) Gv) (i)
(iii) 6) i) (v
(v) i) (D) @
() (D) @ (iv)
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61. Match the following List-I with List-II. Use the codes given below :
List - I

List - II

Chance fluctuations of allele frequencies in the gene pool (i) K-Selected

of relatively smaller populations.

A general level of biological organization seen among a (i) Macroevolution

group of species, useful for knowing evolutionary

relationships.

Evolution above the species level.

(ii1)) Genetic Drift

Reproduction involving the production of relatively few (iv) Grade

offspring with high parental investment in each.

(a)

(b)

(©)

(d

Codes :
(a)

(H @

2)  Gv)

(3) (i)

@

(b)
(iii)
(iii)
(iv)
(ii)

()
(1)
(1)
(i)
(iii)

(d)
(iv)
(i)
(1)
(iv)

62. Match the following List-I with List-II. Use the codes given below :

A taxonomic grouping that contains
common ancestor and all of its descendants.

Gradual changes in the frequency of an allele or trait

OVer space.

A space between the canines and other teeth
allowing the other large projecting canines to fit
within the jaw.

A disease that is wide spread in a population.

(a)

(b)

(©)

(d

Codes :
(a)

() (i)

2)  Gv)

3 O

4 (@G

Paper-I111

(b)
(iv)
(1)
(iv)
(1)

List -1

()
(i)
(i)
(i)
(iv)

(d
(D
(iii)
(iii)
(iii)
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List - II

(i)  Endemic

(i) Diastema

(ii1)) Clade

(iv) Clines
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61. FrfafEd g1 9 < 7€ H&T 1 GEi-11 S 7T % Qe Gaferd Hitg | = T T % 1 7=mT
FHIIT
T -1 = - 10
(a) 3TUTISR oY SHEEA & SiH Yot § Tellol &l aRmaarsti & (i) % — oS

(b) WIS & Tg &% o9 K@ aren U T W) H SAaw (i) 96g am™
G, S o Gey ST | STgi e ¢ |

(c) TS TR § S0 forehre (i) ST foge™

(d) TEARH, T U W ST S dedl & S W 3T (iv) TS (RH)
Togea et (ot gRT ITe=-aioT Geelt 21 e <)

(a) (b) (© (d)
1 () (iii) (1) (iv)
@ Gy (i) (1) (i)
(3 @G - @Gv) (i) (1)
(CORNCY (i) (i)  (@v)

62. frfafEd g1 & < 7T W& 1 G-Il S 7T % Q1 e Hitg | = T T % BT 7EnT

FHIT
=t - 1 = - 10
(a) U SHHOMTR THEHT, a0 U Uhel 90 @t (1) e
3T ST Tt HetaaT et & |
(b) THF dad F W R Teller AT T A ARFEIRAT B (i) SERHT
S R (EeieRTeT)
(c) &I R 3 3l o g B T, ST T T Fobel (i) IS
TGThT T ST | the & 3 € |
(d) TH SR, ST R SEE § Auh ¢ | (iv) FEE
AN

(a) (b) (© (d)

(H @G @Gv) (i1) (1)

2 @Gv) (1) (i1) (iii)

3 (iv) (i1) (iii)

@4 (i) (1) (iv) (i)
J-07-16 29 Paper-I11



63. Match the following List-I with List-II. Use the codes given below :

List -1 List - II

Rapid diversification of an evolving population as it (i)  Acclimatization
adapts to a variety of econiches.

The tendency for the bodies of mammals living in (ii) Bergmann’s Rule

cold climate to have short arms and legs than
members of the same species living in warm climates.

Long term physiological adjustments made in order to (iii) Allen’s Rule
attain an equilibrium with a specific stimulus.

The tendency for the bodies of mammals living in (iv) Adaptive Radiation
cold climates to be shorter and rounder than members
of the same species living in warm climates.

(a)

(b)

(©)

(d

Codes :
(a)

(O) ()]

2) (@

3)  Gv)

4 (i)

(b)
(ii)
(iii)
(iii)
@

(©) (d
Gi)  (iv)
(iv) )
) (i)
(i) (iv)

64. Match the following List-I with List-II. Use the codes given below :

List -1

(a) Phratry
(b) Lineage
(c) Moiety
(d) Clan
Codes :

(a)
() (id)
@
(3) (i)
4) (i)

Paper-I111

(1)

(i)

(iii)

(iv)

(b)
(1)
(i)
(1)
(i)

List — II
A set of kin whose members trace descent from a common
ancestor through known links.
A set of kin whose members believe themselves to be
descended from a common ancestor/ancestress but cannot
specify the links back to that founder.
A term used in the study of kinship to refer to a grouping of
two or more clans who claim common descent from a
mythological ancestor.

A unilineal descent group in a society that is divided into two

halves.
(© (d)
(iv) (i)
(iv) (iii)
(i1) (iv)
(1) (iv)
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63. frfafad g1 9 < 7€ A& Bt GE-11 S 7R % 91 e Hitg | = T T % T uEnT
FIT
T -1 = - 10
(a) Tohdl foepram™ SHEET &7 oSt @ TOfadieoT e a8 () Seeer
Rt @t faf= feafaal o aer ereier g € |
(b) ST SToTg H & dretl TRl & ST S o § 9 (i)  STHA o1 FEm
STeTarg B e aict 391 TR o WL o IR hl B!
9qeIT S W e & |
(c) fafere SEus & @ dqer i Wit % fow f6U MU (i) T % Ee
S THhITcTsh [haTcHeh THTAISTH
(d) ST TAag H T a6l WM & W& Sl o1 H WA (iv) STl g
STTarg | T arel 34T TR o WAl % INR BT 31T
AR B & |

T4

(=N

(a) (b) (© (d)
(CORNCY (i) (i) (@v)
2 () (i) () (1)
3 Gv) (i) (1) (i)
4 (D) (1) (i) (iv)

64. N1 D TN B G-I T THAH B | B B TFaT T el ST BT 95T B

=t - 1 = - 10
(a) TEIWEH () -FHl AT F UH Y=, P T A Hedl & qreay
AT T U IS ST § S BT I A |
(b) @9 (i) TPl Al HT Uh Y=g, TP G 30 IR § T qren
qersT/gasT & SRTShHTTA ST Ul I &, U] S Ueel & ST i
Hiedl i fafere 1 ¥ T Ta@l H U |

(c) Wizt (iil) T aT & |TEM Gee T @ B ATl I AT I H 317k T B
AR § WG & arell 915 |
(d) T (iv) TS 1 TG 99T GHE ST STH1-314T § &2 8l ¢ |

~

(a) (b) (© (d)

() (D) (1) (iv) (i1)

@ (i1) (iv) (iii)

(3) (i) (1) (i1) (iv)

4) (i) (i1) (1) (iv)
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65. Match the following List-I with List-II. Use the codes given below :

List -1 List — II
(a) Pan-Egyptologist (1)  Friedrich Ratzel
(b) Kultur Kreis (i) Elliot Smith

(c) Multilinear evolutionist ~ (ii1) V.G. Childe
(d)  Universal evolutionist (1v) Julian Steward
Codes :
(a) (b) (© (d)
(1 () () (v) (i)
@ O (i) (i) (@v)
3 Gv) (i) (i) (1)
4 (i) (1) (i)  (@v)

66. Match the following List-I with List-II. Use the codes given below :
List - I List — IT

(a) Insider’s view, cultural evolution, comparative (i) Margaret Mead
method.

(b) Personality and culture, cultural constructionism, (ii)) Lewis Henry Morgan

public anthropology.
(c)  Cultural materialism, comparison theory building. (iii) Clifford Geertz

(d) Interpretive Anthropology, thick description of (iv) Marvin Harris

local culture.
Codes :
(a) (b) (© (d)
(1 () (1) (v) (i)
@ O (i) (i)  (@v)
3 Gv) (i) (i) (1)
@ () (1) (i) (@v)
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65. g1 <l QI 1 GE-11 § Aol Y | S B Qe 9 Wel 9% I

(a)
(b)
(©
(d)

(1)
2
3)
4

66. -1 < QI 1 GE-11 T AT Y | $ B Gerdl 9 Fel 7% I -

(a)
(b)

(©
(d

€]
2
3)

“)
J-07-16

T -1
EERE Il
o hE
AT SR

o < o
SIHHeT 2RI

(2) (b) (©)
(ii) (1 (iv)
(D (ii) (ii1)
Gv) (i) (i)
(ii) (D (ii1)

= - 10
() Theie TSt
(i) ferae fee
(il) @S, AT
(iv) e ware
(d)
(iii)
(iv)
(1)
(iv)

Tt - 1 =t - 11

ST gfehIvT, HREhidh I5Wd, TorTcHe TeT (i) TRE HE
Ffofd U G, HEpD FHOER, SHRd (i) olfod R g
BIECIERIE]
HIpTereh WiqehaTs, qotTede g e (iii) fFTRE TS
HTATCHE TR, TIHT G&hid &1 e fekor  (iv) e &R

(a) (b) (©) (d)

(i) @ (iv) (i)

@ i) i) Gv)

(iv) (i) (D) @

(i) @ (i) ()
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67.

68.

69.

Match the following List-I with List-II. Use the codes given below :

List -1 List - 11
a) Mode ) N/2 — Cumf
@ H L+ f—l W,
(b) Median (i) al+ %
(c) Mean
(ii1) X
(d) Geometric mean f,—f
av) I, +2f1 £ -1, X (-1,
Codes :

(a) (b) (© (d)
(CORENCY (i) (i) (@v)
@ (@) () (i) (iii)
3 ) (1) (iii) (i)
@ @) (@Gv) (i) (1)

Match the following List-I with List-1I. Use the codes given below :

List -1 List - 11

(a) Tribe-Caste Continuum (1)  Robert Redfield
(b) Great and Little Tradition (i) F.G. Bailey
(c) Nature-Man-Spirit Complex  (iii) M.N. Srinivas
(d) Dominant Caste (iv) L.P. Vidyarthi
Codes :

(2) (b) (©) (d
() () () (iv) (i)
2 O (i) (iv) (i1)
3) (i) () (i) (iv)
4) (i) (iv) (i) (1

Match the item in List-I with an item in List-II. Use codes given below.

List - 1 List - 11
(Site name) (Related Matter)
(a) Kaldihwa (1)  Cotton fibre
(b) Bhimbetka (i) Microliths
(c) Harappa (i11)) Rock art
(d) Binbhanpur (iv) Rice cultivation
Codes :

(a) (b) (© (d)
(1 () (1) (v) (i)
2 @) @Gv) (i) (1)
3 Gv) (i) (1) (i)
(CORNCY (i) (i) (@v)
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67. g1 bl QUi b GE-11 § Aol Y | S B Qe 9 el 9% I

(a)

(b)

©
(d

T4

(=N

(1)
2
3)
“4)

(a)
(b)
(©)
(d

T4

(=N

ey
2
3)
“4)

(a)
(b)
(©)
(d

T4

(=N

ey
2
3)
4

Tt - 1 w=it- 11
N/2 — Cumf
A () I+ f—lcu W,
e (i) a' i—%
i (ii)) ~/7X,
SHigen =i _ f, -1,
av) I, +2f1_—f0_f2 X (-1,
(a) (b) (c) (d)
@) (i) (i)  (Gv)
(iv) @) (i) (i)
(iv) @) (i) (i)
(i) (Gv) (ii) @)
68. -1 T AN T G-I F AT Y | He H TerFdl @ Fel I G
Tt - 1 =t - 11
ST - STt () & ITHiTS
o Te 7T W (i) TEHSH. aAl
TRI-HAHI-STCHT e (iil) THEA. shfare
T S (iv) wer . fommef
(a) (b) (c) (d)
(ii) @) (iv) (i)
@) (i)  (iv) (ii)
(ii) @) i) (Gv)
(ii) (iv) (i) @)
69. TEIIH & T Hel ol G-I I HRI o T GHlAT SHIST | A1 ST 1T e 1 F=AT B |
Tt - 1 =t - 11
(BT =T ) GEIECATLR)
e (i) g wm
e crea) (i) g TS
T (iii) Vet e
[EEEIELtS (iv) o @l et
(a) (b) (c) (d)
(ii) @) (iv) (i)
(i)  (Gv) (i) @)
(iv) (i) @) (i)
@) (i) (i) (Gv)
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70. Match the item in List-I with an item in List-II. Use codes given below.
List - I List — IT
(a) Amri (1) Neolithic culture
(b)  Ochre coloured Pottery (1)) Iron Age
(c) Northern Black Pottery (111) Copper hoards
(d) Kuchai (iv) Pre-Harappan Culture
Codes :
(a) (b) (©) (d)
(GO C)) (i) (i)  (v)
(2 Gv) (i) (i) (1)
(3) @) (1v) (1) (i)
(CORNCY) (1) (iv) (i)

Read the following text and chose/pick the correct answer of each of the following questions :
(Q. Nos. 71-75)

The first ever systematically organized fieldwork in anthropology was conducted by the
members of the Torres Strait Expedition in 1898-99, which was organized by the University of
Cambridge. The members of the expedition team included A.C. Haddon, W.H. R. Rivers, C.G.
Seligman and others. The everlasting impact of the Torres Strait Expedition in anthropology is
that even today widespread use of Genealogical Table Method by social cultural and biological
anthropologists both is made in their researches. Franz Boas had though earlier conducted
fieldwork among the Eskimos, but then, his background was in Geography. His Eskimo
experience disenchanted him from Geography. He was convinced that ‘geography alone did not
determine culture.” Thereafter, he turned to anthropology and became ‘the father, the hero, and
the guru’ of American Anthropology. Under the leadership of Franz Boas, Margaret Mead did
her fieldwork in Samoa Island; and laid down the foundation of Culture and personality School
(1928). In United Kingdom, B.K. Malinowski’s fieldwork in Trobriand Islands (1913-18) gave
rise to the School of Functionalism. A.R. Radcliffe-Brown’s work in Andaman Islands (1906-
08) resulted into the emergence of Structure and Function School. The National Character
Studies during the Second World War introduced a new methodology in anthropology, known
as ‘Study of Culture at a Distance.” After the Second World War, the anthropologists realized
that neither the ‘cultural relativism’ of Franz Boas, nor Malinowski’s ‘empathizing with the
natives’ could successfully bring ‘objectivity’ in the discipline. With a view to bring more
objectivity and scientism in anthropology, they suggested to examine the working of thought
process of man and his mind. They called it ‘entering into the head of the native.” This gave rise
to the concepts of Symbolic Anthropology, Cognitive Anthropology, Ethno-Science, Ethno-
Semantics, Semantic Analysis, Formal Analysis, and likewise, under the rubric of New
Ethnography.
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70. EIIH &) TE HRT ol GEI-11 S HRT o T GHIA ST | A ST T e i W= i |

Tt - 1 =t - 11
(a) A (i)  EdTooT W
(b) TR gRwis (i) e T
(c) T PO A (i) T FkE
) T (iv) TE-ESHT HEHa

(a) (b) (© (d)
(CORENCY (i) (i)  (@v)
@ Gy (i) (i) (1)
(3 @G (@Gv) () (i)
@ (i) (1) (v) (i)

fFAfeiad 35301 &l Ug/efefad s U9 &1 3R gHT (U9 T 71-75)

IRT T THUTEYH & TIET A 1898-99 H JOwE H HAWYH HaNAd & B (Wiesa)
Tarferd foram o, ST FHareet it Shitsrs gRT ST o1 | 39 i ot 3 o U5l § TH). 53,
T, 09,3, o, st Afeiq iR 7 & I1fieT o | Jiaee § 2RE W THUiey &1 T
T eIt o1 o QTATTSToh-Higpideh 3R Sifereh Jrasii—al g7 37T off 379 e § S difersht Ugia
TS ST & | T 3EF Uged IheT SieTd F UReRHT o S &g Shid Heleld Rt &, Tiish da Sehi
Y ST i o | 3ok TReRHT Taell 3T e & ST et © HIeWHT &1 T | ST AT T T Shared
IeT TR T FEINT &l ST | 39 15 o JrosT Bl 3R T 3R TRB! Jasm= & SHeh, AT
3R TTE 54 | el S & Aged § ARIS Hig F GHIST 519 § U7 8519 HF o iR 9&pia wd
foricd fTaRERT (1928) I MR Rl @ | FARes [ren o ., dfetiawnl & Zifesis gt
(13-18) H &0 1 ¥ UhIIETS [TaRERT 31 359 o | TR, LSIFTeh-s3H o 3TEHH 54 § 1906-08
T T AR FEHAT T Yo foaRERT % 339 & &7 TE 37 | {5 fovd 35 o SR Uiy =i
3THFAT F T H T A UZId U i, [STHehT T T T T 3T (LS 31 ol e U [g-)
% T H AT S ¢ | g fave 35 & a1 famtar 3 vegw fowar fof 7 ot e Stem o qigptas
T 37 7 & Afeiewent S o1 fHanfaat & e agqia 39 faua § gherangdes a¥gf-edr o wed
€ | JroeTe | 31k aRgeear 3 Si-ehar o & feTT Swai | e Ue ST HIsh i (oa Uishan &b
HEYOTA i ST T GoTdl &A1 | SBH 38 JoT e (Afee) o At & ver (RT3 s 8e oiim g
dfca) @ G F | WA UAEHS JfORE, GEE JOeE, Jod fome, Jenta v fomme
(&T-Tamta), T fovermoT (Faifee TATaras), Tehie faeeioT (B TATarad) 3K 38 aXE
F9-GA T & PN o ST STATRUMS T 33T g |
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71.  When the first organized fieldwork in anthropology was conducted ?

(1) 1898-99 (2) 1913-18

(3) 1906-08 (4) 1928

72.  'Who were the members of the Torres Strait Expedition ?
(1)  W.H.R. Rivers, Margaret Mead, A.C. Haddon
(2) C.G. Seligman, A.C. Haddon, B.K. Malinowski
(3) A.C. Haddon, W.H.R. Rivers, C.G. Seligman

(4) Franz Boas, Margaret Mead, A.C. Haddon

73. Franz Boas’s first fieldwork as a geographer was conducted among

(1) Trobriand Islanders (2) Andaman Islanders

(3) Eskimos (4) Samoans

74. Who is considered to have laid down the foundation of Culture and Personality School in

Anthropology ?
(I) B.K. Malinowski (2) A.R. Radcliffe-Brown
(3) W.H.R. Rivers (4) Margaret Mead

75. What did the exponents of New Ethnography do to bring more objectivity and scientism in

anthropological research ?

(1) Suggested to observe cultural relativism.

(2)  Suggested to empathize with the native.

(3)  Suggested to study any culture from a distance.

(4) Suggested to enter into the head of the native.
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71.

72.

73.

74.

75.

i | Fevem aterd & HE e Garferd foRar T ar ?

(1) 1898-99 (2) 1913-18
(3) 1906-08 4) 1928
TN L2 THUfey & G HH-HI & 2

(1) TYUAAR. oy, A Hre, TH. ege

(2) ST AT, T, ggeA, ., HieHeen
(3) TH. T, Ty U IR e, WSt dferma
(4) TR SreT, AT Hig, THT, g

T JIeTerT & ®0 H et S 1 T2H &5 B Th-ich sl fehaT 71T &7 9
(1) gifeds & o & (2) e &9 % A
(3) uiEpHST (4) TES & AT

i § foheh! GEhid U Sfded [TaReRT &t SERISTAT W& STell /T ST 8 2
(1) 3, Afeaen (2) T3IR, ISTFAB-STSA
(3) THYUAIR, o™ (4) TR YT

T I 3 VTR 3 e v o et aefTea Siv AT o 3 e s f o
(1) TR QIR & TeTcAih H Gerel & |

(2)  He el o W T e A |

(3)  forelt it WPl B X W STeRAA 1 Gor o |

(4) o1 AT o AieTsh § HoeT 1 e AT |
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